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I 2x mwn: 0% 07103 are exempt (from n"va)
a reason:\'p—
i if they exempted Y&870’s animals in desert
ii  then: certainly they exempt their own
b challenge: the D% 1N didn’t exempt the animals of Y87w?; per v. 1 — their animals exempted them
i answerl (»aN): read — if their animals exempted YX19”’s animals in desert, 1" their animals are “self-exempted”
1 challenge (x27): the text is “they exempted” (not “their animals”)
(a) furthermore: if so, "INV NN2 M2 of DY should be exempt (it is not, per X:1 M7132)
ii  answer2 (837): the reference is DR 179 — DM D1NI are exempt from 270 719, using that same 17
1  note: this explains why DR 1131 is exempt; why is n”va 719 exempt?
(a) answer: v. 2 juxtaposes DR 1178 with n"oa 117a: anyone who is obligated in DR 1979 is n™0a 11792 27N
iii  challenge (X790 77): to »aR and X217 MR
1 »ansif anb didn’t own an animal in the 9211, his own n"va shouldn’t be exempt
2 N27 7ax5 if a " was younger than 30 days, he shouldn’t be exempt himself (he didn’t exempt a YR1v)
3 N27 7285 a Y shouldn’t be exempt (her son should require 1779) (8”ar1 ruled that she is exempt)
(a) Answer (to last question): v. 2 indicates bn1 908 = the mother’s identity will exempt
4 Na7 7385 170K (Who wasn’t counted, per diacritical marks in v. 3) shouldn’t be able to exempt
(a) Answer (to all): v. 1 indicates 0”50 — equating them all - if some are exempt, all are exempt
(b) Note: 013 are included per 9”17’s observation that 0)n3 are called “nm5” (e.g. v. 4)
(c) Note: this is not just for that generation; rather for all generations, per v. 5 — 051 vm
II  Question: how do we know that the n”"va was redeemed with a nv in the desert (per X150 "1’s challenges)?
a  Answerl (8701 77): both nw and qo3 are mentioned for M7
i Justas: qo3 was also used then
ii  So too: nw was also used then
iii  Challenge: 903 has wider nr1a-abilities; it is used to redeem w"yn and w1pn
b Answer2: v.2 equates DR 1779 and n"oa 1179;
i Just as: we don’t distinguish between the one-time nTX 172 in the desert and the permanent na%n
ii ~ Similarly: we don’t distinguish between n”va 1114 for generations (nwa) and that one-time 1179 (12703)
III Historical footnote (81710 "7): one lamb of the 0% wa able to exempt/redeem severral 1N Mva of HRIW
a  Proof (7an): the text (3 92711) reckons the surplus of TR 1133, but not nnna
i Challenge: perhaps there was no surplus (either the same or fewer mnna »31 of Y871’ than 0> mnna)
1 Block: v. 6 indicates that non-n»? had great flocks and herds
ii  Nonetheless: perhaps the YX7%’ ninna »131 were the same amount as 0% MnNN1 VIV
1 Answer: v. 1 uses singular (050 nnni) redeeming plural — (onnna)
(@) Challenge: perhaps the singular is meant as collective (as per v. 7)
(b) Answer: then it should have been consistent; either nnna nnn NP2 or MnNa NN MNN2
b Support (8¥27): 7:X MM21 — a "W may be used several times for n"a 19
i Note: Xyan 1 was simply explaining the reasoning behind that ruling
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